RETAN G B2E% %S5IE0OEE 01

RD )0 (S5, Afk4s®, Bik14r, C# 157205 )
(1) AD10%5&E =A x (2)  AD20%3E =A x
(3)  AD15%I = A x (4)  AD32%Jk=A x
(5)  ADB0%BIE = A x (6) A D47 %I = A x
(1) AD2%5E =A x 8 ADT%W=A x
(9) ADII8%HIE = A x (10)  A®D2745%51E = A x
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RD DX (S22, Afh4s®, B 14y, CH14320% )

(1) AD30%31E =A x (2)  AD40%5IE = A x
(3) ADI2%IK = A x (4)  AD35%W =A x

(5)  AD19%5E = A x 6) AD23 %W =A x

(1) AD5%HE =A x (8) ADSUI = A x

(90 AD28%HE = A x (10) A®D17.29 %51 & = A x
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RETAL BlI& BSE% %IIZ0ER 01 BERSR

1. XD DX, (SH25F, Af4as®, Bi14r, C#k14720%)

* TTOEDEIFIE 1

(1) AD10%HIE =A x| 0.9 (2) AD20%5E =A x| 0.8
1-0.1=0.9 1-02=0.8

(3) ADI5%W = A x| 0.85 (4)  AD32% =A x| 0.68
1—0.15=0.85 1—0.32=0.68

(5) AD50%5X =A x| 0.5 (6) AD47 %I = A x| 0.53
1-05=05 1—0.47 = 0.53

(7)) AD2%5E = A x| 0.98 (8) AD7%W =A x| 0.93
1—0.02=0.98 1—0.07=0.93

(99 AD11.8%H %X = A x| 0.882 (10) A D27.45%HE = A x| 0.7255
1—0.118 = 0.882 1—0.2745 = 0.7255
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RD DX (S22, Afh4s®, B 14y, CH14320% )

(1) AD30%51&E =A x| 0.7 (2)  AD40%51E =A x| 0.6
1-03=0.7

(3) ADI12%J =A x| 0.88 (4)  A®D35 %k =A x| 0.65

(5)  AD19%5|E =A x| 0.81 6) A®D23%W =A x| 0.77

(1) AD5%5& =A x| 0.95 8 AD8%W =A x| 0.92

(90 AD28%HE =A x| 0.972 (100 A D17.29 %51 & = A x| 0.8271
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